TH6FEE

5 TRYERX

BI|E|& 2R TS TP ERZ ’
1|k HANDTA~6AFEET HEHRAEER 1~6%--14:40 ~
2 | % B OEEER &R 1~4%---14:40 5, 6%---15:45
3 | & o9y A =
4 * HEYDHE
5 H ZELDH
6 A REKE
7 | % 1%--14:20 2~6%-15:15
8 | % SEMMEZ AER:00~10:30 B MK E KA 1~6%14:40
—RRE SEHEAKRFHA 25HFRHEA |1, 2F--14:40 3~6%--15:45
9 | K| A ¥ﬁ171<717-7<|~y7h-h—;wx(+(~105>
RI—=Ihoo 25—
0|2 L7 —NEIRTYD) EwERREZ (1-55) 1, 2%--14:20 3~6%--15:15
e
B
13| A piiz - ElE RN 1~3%--14:40 4~6%--15:45
14| % 1, 4ERXBREHEAM  2EFEHEAIFHKE] [(15£-14:20 2~6%--15:15
CEBRARBREE (~170) HBEHHREER 1~5%--14:40
15| K| g [3EpFAEEABES (ZBHR—IL)
16 | & 6EEARBRFEE RV—ILHIET—ERK 1, 2%--14:40 3~5%--15:45
XyoEbIRY 6ERARBRFERXA 1, 2%--14:20 3~5%--15:15
17 & 1ERHE BBRES12:10~13:30 64-+14:20

SEMETSAVAT—H 395, 6[R

20 | A 9357 1~3%4:-14:20 4~6%--15:45
21 | % WNEHRZ (2-4%) PTAIG#RER=19 : 00 14--14:20 2~6%--15:15
2| Kkl A HLHEMEKREER BEAERHE15:00 1~6%--14:40
23 | & MEHREZ (1-65F) RV—ILAIE5—FK 1, 2%--14:40 3~6%--15:45
2 | & i~check B fE# A < 4] 1, 2%---14:20 3~64%:-15:15
+
=]
27 | B 5ET— LAY 1~3%--14:40 4~6%--15:45
[R—R_KEEHRE O6FHHHE(ZRHE) 14£---14:20 2~6%--15:15
28 | K O—5—FEBERIE 6FEYNAAEG, 66R)
PTAFEEEZ19 : 00
29 | k| B [BEHEHKERE BALLEV(B)RFREL 1~6%--14:40
0 | % NEHRZ (3-65F) RI—ILAVUEF—EKK 1, 2%--14:40 3~6%--15:45
2 | & RXyZEEIRY (DR 149:30. 4510:40 1, 2%---14:20 3~6%--15:15

48
5H
78

(X)
(K)
(&)

(X)
(X)
(K)
(&)

I 18
| 8H
278
28H

[6 ADERTT

£T7E]

4 FRWESHRKRE

ERRL2 - 4 F SERITI—-NVTY—
RESE (2~4RTFE) T-ILER6F
FEELHIKRRIF ZFREERRR
SFEEXRR

PTAIGEREF2 19 : 00
PTABEER&19:00

SHEFRERRER (FE)

B g ol 3 F6 b oI 3¢ oK 56 ofe 32 T 3 AR 37 ke

[HE15E - HEELY)

O5A1B0K) KYERMEREAELET,

O%BAIXE7:30IREET . BRM R
#HEMAREY ., 22 EIDEETT,
%;i;lf'fiﬂ(:iﬁEJﬁ(fiéL‘i?’J:’)BﬁEb

OEFERBIXITHAPER, BREFEFITFELT
BBILLESL, KBRIZfAAhHYEL-EE
g@wﬂfﬁ?ﬁﬁﬁ(zas—ﬂ 36)FTIERK

&Y,

3 #P e ol 3 FE 5 s 3 2K 52 o 2



